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QUESTION 1

Which two statements are correct about VXLAN domains? (Choose two.) 

A. With Layer 2 traffic, the VLAN ID is discarded before the packet is sent. 

B. With Layer 3 traffic, the VLAN ID is discarded before the packet is sent. 

C. With Layer 2 traffic, the VLAN ID is transmitted within the packet. 

D. With Layer 3 traffic, the VLAN ID is transmitted within the packet. 

Correct Answer: AB 

 

QUESTION 2

You are asked to configure VXLAN for you c data center using multicast to exchange VTEP information? 

In this scenario, which two configuration parameters must match on the VTEPs in the same VXLAN segment? (Choose
two.) 

A. VLAN ID 

B. Routing instance name 

C. Multicast group 

D. VNI 

Correct Answer: CD 

 

 

QUESTION 3

Referring to the exhibit, which statement is correct? 
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A. Leaf1 has not learned any MAC addresses 

B. Leaf3 is the remote tunnel endpoint. 

C. One tunnel is servicing multiple VLANs 

D. Spanning Tree Protocol is disabled 

Correct Answer: C 

 

QUESTION 4

Which protocol is used between VCF member devices to create a loop-free topology? 

A. LLDP 

B. MDTP 

C. RSTP 

D. VCCP 

Correct Answer: D 

 

QUESTION 5

What are the two valid types of VXLAN signaling?(Choose two.) 

A. EVPN 

B. RSVP 
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C. RSTP 

D. MPLS 

Correct Answer: AB 
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